-ASANCOV

GIONA L00C140

COM-001151
COM-001153

[x1] COM-001152 [x1]
[x1]

INSTRUCTION MANUAL / NOTICE DE MONTAGE / MONTAGEANLEITUNG / MANUAL DE MONTAJE / MANUAL DE MONTAGEM / MANUALE DI MONTAGGIO /
MONTAGEHANDLEIDING / NSTRUKCJA MONTAZU / KAYTTOOHJEET / BRUKSANVISNING / BRUGSANVISNING / INSTRUCTIUNI DE ASAMBLARE /
NAVODILA ZA SESTAVLJANJE / NAVOD NA MONTAZ / §SSZESZERELESI UTMUTATO / NAVOD K MONTAZ! / UPUTE ZA INSTALACIU /

OAHFIES 5YNAPMOAOTHEHS / SURINKIMO INSTRUKCIJOS / MONTAZAS INSTRUKCIJAS




-ASANCOV

Ext.
420 1000 420
m— — ==
Hi | =
155 S5
(==}
2 2
= = d { %
100 | [<22-]
3960 3
Int.
] E [ I T I I
i g =
g
n
8
£« = o s = A
S 4213




-ASANCOV

AT-17

AT-10 ' T o
/—D6
Dr-28 LR-A8 f Y]

M\ DO-D14 /7

ATE\ = |R-D4 i\ I
- 1;——’"’ CK-ABb
ez Y LRD4 \\;
| | y LR-Ath
# \| N CK-A11
| LR-A8 T
Bl 2t
~- ™ i
CK-A11
Dr-28




-ASANCOV

2R

AT-17a

ATL-14a
ATL-14 DO-D16 lﬁé\
AT-17a
AT-23
DO-30 AT-29
/ < AT-30
LRD4 -—I:S’ Q
'Z \AT-10
AT-31
AT-A1a
N ERNCE: ]
\ A LRA1b
- d CK-A11
LR-Alc o . i
CKAT1 i AT-Al1a
- LR-D4a f
— | U |
Dr-28 .
e \ AT-23/| \AT-10
N — DO- AT-30a
AT-29

r-A5d,/

Dr-13 L v
Ao} 1
DO-D14a \M
AT-19
ATL-14a

o




CASANCOV

AT-18a

os B0




-ASANCOV

PART LIST
IMAGE NO. |L.(mm) QTY| | IMAGE NO. [L.(mm) QTY
LR-A1b (1418 | 2 — |ATL-14 {1000 | 1
LR-A1c |1418 | 1 — |ATL-14a|420 3
dF% |LR-A2 [1418 | 1 @ |DO-30 4
AT-30 |250 1 = |AT-18 1
AT-30a |250 1 2e) AT-18a 1
e |DO-C3c |1957 | 4 <  |AT-19 4
——= |LR-D4 [1245 | 22 I} AT-20 4
== |LR-D4a (1245 | 2 L AT-21 1
CK-A5b 1418 | 1 FiN AT-22 1
CK-B5 [1293 | 1 b AT-23 2
AT-A5a 3955 | 1 F Dr-18 1
] SR-A5a |782 1 1 Dr-19 1
AT-29 |193 2 B Dr-20a 1
Dr-A5d |52 1 & Dr-21 1
CK-A11 |1418 | 4 = |Dr-22 1
— |AT-A11a|250 2 ~ Dr-25 1
DO-C11 |1957 | 4 ~~ |Dr-25a 2
— AT-31 |250 2 ~p  |Dr-27 2
LR-D6 |25 8 =  |Dr-28 6
—~ |LR-A8 1245 | 4 ©  |AT-22) 7
¢— |CK-ATb [1313 | 1 e LR-U30 |sT4xt0| 4
H DO-D14 (1823 | 2 =% [LR-U31 | M8x60 | 10
DO-D14a[1823 | 2 wap |LR-U32 [ST5.5x38] 32
—  |DO-D16 |1822 | 2 fome—y, |LR-U33 |M8x130| 4
H AT-16 1 -~ LR-U34 |[sT4.8x38 26
—— |AT-C17 [1580 | 5 % LR-U35 [ST4.2x19 54
AT-17 2 w LR-U36 | M6x20 | 2
AT-17a 2 « LR-U37 | M8x20 | 8
== |AT-10 4 =« |LR-U38 |ST4x25| 50
<= (Dr-13 1
<> |Dr-14 1




-ASANCOV

DO-C3c

DO-C3c

1.1 1.1
__—
Dr-28
LR-A2 DO-C3c ] Rﬁiﬁ - |
X2 X2
TP |LRA2 | 1
F3 |DO-C3c| 2
Dr-28 | 2
wp |LR-U32 | 4




-ASANCOV

—— |LR-D4 | 2

[ 24
LR-A8
2.1 l
LR-A8
LR-D4
X2
~ |LR-A8 | 2

LR-D4

X2




» —
é’ -_—
| [ RD&N
/| +ras \
/ 311 1)\ — 2
- —
QXLﬁim / —| [« — 4—/— B




-ASANCOV

LR-DG
—[1" LR-D4
N - +LR-AB
N
LR-D4a
k—
4.1 42 ﬁ 43
— = “~ E S T\?if\j\:ﬁ
DO-C3¢ m ~ 8 ~ DO-C3¢ H S
LR-D6 /E ¥ LRD6
X2 LR-D4al x1 X2
44 ﬁ
=[]
]
e LR-D4a 1 LR-D4 X1
LR-A8
[— LRD6 | 4 :




-ASANCOV

LR-A1b
/|
BIVATY ==
'\SL 2
5.1 51
= Dr28
== — _
J )
LR-A1b - LRU\Q
X2 X2
9% |LR-A1b | 1
] pr-28 | 2
cap |LRU32 | 4




-ASANCOV

6.1

e \§
—

LR-U35 | 24
%% |LR-U34 | 4

&




-ASANCOV

—]

7.1

CK-A11

- \»"T: '

{

X2

s

R

=

CK-A11

’ — ‘CK-A11‘ 2 ‘




-ASANCOV

‘jé.“fé?“fj
=

s ‘ vl
” DO-30 X2

-~ |DO-C11| 2
o |DO-30 | 2




Lty

T CK-A5b
1] —— ////57 . \
SR-A5 s
%\ 93,
( A \ 11
o2l
~
9.1 - L
= N
a2 | | Lree
- SR-A5a
: —\ T x1

CK-A5b | 1
] AT-A5a | 1 -

SR-A5a | 1




-ASANCOV

AT-10
a -
[104%
N =
j RN
(10401
v R/
T X AT-10

o7 |AT-10 | 2
w |LRU30| 2




-ASANCOV

DO-C3c

DO-C3c

1.1 1.1

- RUz2 e
P~ =]l
LR-Atc DO-C30 o | |

Dr-28
X2 X2

LA

LR-Alc | 1
DO-C3c
Dr-28

LR-U32

dl=0

AN




-ASANCOV

Yo
[ 121 A1)
LR-A8 ;’7‘
LR-D4
121
!

LR-A8

LR-D4 | \
X2

~ |LR-A8 | 2

—— |LR-D4 | 2




-ASANCOV

LR-D6
T — —
« w
k——
LR-D4
+LR-A8
13.1 132 13.3
N ]
DO-C3¢ ﬂ = § ~
= LR-D6 w
anoe | xd X2 RD4g X1
13.4
T '\/ DO-C3¢ B g
—— |LR-D4a o LRDE
X2
[— |RD6 | 4




«— B N
] N 142 \
M—D‘l/
(’—
«— \ B
«— “— —
10 — _
+LR-A8
o “~
%Q{j —
X1 1




-ASANCOV

15.1

LR-A1b

X2

LR-A1b

40

LR-U32

LR-A1b
LA
U150
. '//
5.1
.y
LR-U32
X2




-ASANCOV

]
180°

B

/ =
_{fff‘ A
=== . N e Y
L = o ¥ .
[ % gip ~

< ~

16.1 16.2 .

— ~
e —— ™
— .
.
<

NS
LR-U35 x24

LR-U35 | 24
%% |LR-U34 | 4

&




-ASANCOV

CK-A11

==

17.1

) CK-A11/

—= |CK-A11| 2




B,

18.1 T s 18.1 e

DO-C11_~ ~

‘ 0 |

‘ X2 = |

@ DO-30 | 2




=ASANCOV

N AT-23

—_

4
)

ﬁ
180°
- \192/\@
19.1 192 [~
=iy
x1 ”

— | CK-B5 | 1

_3 | AT-23
ap |LR-U32
@ [LR-U35

NN N




ASANCOV

—
N <l
T -
AT-30a
s I
Digm )
ara7a
<
==
LR-U33
X2
AT-30 | 1
AT-30a | 1 Bomm— | R-U33 9

=g |AT-17a | 2 <« |LR-U35| 4




-ASANCOV

AT-29

- AT-10
RVAVIEE
[
AT-31
AT-31
AT-A11a
L)
A= — p | ’
- \ /211 A\aro0
AT-29 —
211 ‘ 211 . oy
- LR-U30% -
AT-Ata,__ | . %
e AT-10 -
X2 X2 5
— |AT29 | 2
— ATAla 2 & AT10 | 2
— AT31 | 2 < ruml 2




ASANCOV

cear 11
i | LA ]
s //J,,//////
Jf{i L
= il /
DrA5dDr-13 \221/

22.1 22.1 ;’”4
CK-A7b "iﬁL\\ / 1 LR-MC

— l D El; D13 | X1
—~) |CK-ATb| 1
—  |Dr-A5d | 1
<= |Dr-13 | 1
~> [Dr-14 | 1




/ T} v}‘"""'/”/j"//
,,,,//,///,,/// /7\'/1"’
L1117 » /,'//,//,ij
//L,/J ! ————
- =/ 23.1

X2 ;

Ty |ATAT | 2
Bomm— [ R-U33 | 2




-ASANCOV

B DO-D14a

DO-D14a
EN:  These parts are made for connecting your gate's automation

FR: Ces piéces sont faites pour relier I'automatisation de votre portail

DE:  Diese Teile sind fiir den Anschluss der Automatisierung Ihres Tores  vorgesehen

ES: Estas piezas estan hechas para conectar la automatizacion de su puerta

PT:  Estas pegas sdo feitas para ligar a automatizagao do seu portao

IT: Queste parti sono realizzate per collegare I'automazione del vostro cancello

NL:  Deze onderdelen zijn gemaakt voor het aansluiten van de automatisering van uw poort.
PL: Te czesci sg wykonane do podtgczenia automatyki bramy.

241

241

LRU32T

x16

DO-D14 | 2
DO-D143 2
g |LR-U32 | 16

I




-ASANCOV

25.1

LJ%%';;;; /@ AT-19
;LL',",,"""'_ ,’/ /
& & ruy

x4

— |DO-D16| 2

AT-19 | 4
® |LR-U37 | 8

&




-ASANCOV

—

) N
ATL-14 2/6.4 N ﬁ \
ATL-14a /%éééﬂ‘i’ff —
9 ;;\\ _____i;%ffffff?zfiﬂ¢;cffé‘ff:/»/A<f' )/
(24.1 \' /?4Tjwf/ — T .

Ni=<unll L

A [ ——

—— i
="
4a

o ATL e 243/

26.1 LR-U34 26.2

i1 I

TATL-14] L
—

26.4

i LR-%J34 i i i

T Vol L]
O ATLMa L

;

= |ATL-14 | 1

= ATL-14a| 3 —

“  |LR-U34 | 18




CASANCOV




-ASANCOV

27.1 27.1
/ A {5

x25 x25

271 ii

é' ﬁ LR-U38

— |AT-C17| 5 \

e [LR-U38 | 50

x25




180°

AT-18

139cm

-ASANCOV

28.1

28.1

AT-18

AT-18a

AT-20

LR-U31




-ASANCOV

29.1




-ASANCOV

30.1.1

Y

Dr-18

>

q 200
x1
f |Dr2oa| 1 = D8 | 1
7 D21 | 1 = o9 | 1
= |Dr22 | 1 N\, |Dr-25a | 2
~, |Dr25 1 | Dr-27 2




-ASANCOV

LR-U31
x1
B A6 1| f31a] | 31.1
N N i (P2
- 1 el |IP e P | N f10]
L |AT-21 @/g@ j -)
© |LR-U3 | 2 S {2
o |3 ATy AT21 ATA6 | LR-U36
B i x1 x1
© |AT22 | 3




-ASANCOV

/ﬁéﬁééﬁéégfi
T T |

32.1 321 (] @10mm
)

x1

32.1

D AT2 |1
@ |LRU3T | 4
Q@ |AT-22) | 4

x1




-ASANCOV

AN Y

dem

ATC17 x25 x25

LR-U38 ﬂ ﬂ

—a |ATC17| 5 / e
~w |LR-U38 | 50




XXX

@10mm M

-ASANCOV

139cm

28.1

28.1

AT-18

AT-20

<
© | AT-18a
g

=

LR-U31




-ASANCOV

29.1

X1




-ASANCOV

gj& k ¢
Dr-ZOa\/ >/ i
Dr-21 /

Dr-19

30.1.1

Dr-20a

Dr-21

&
= | Dr22
~, |Dr-25




-ASANCOV

1120mm

31.1

[N

@\9_

8.
AT-21 =
x1
31.1 ‘ —|
AT 5l
In LN [fn p—
(- 0 N ’//;‘
) i
LR-U36 | AT-16 || |_—
‘ x1




-ASANCOV

| rT——
— == ——
T |

32.1

x1 x1

32.1 32.1

D (AT2 |1
@z |LR-U31 | 4
© |AT-22) | 4




